INTERMEDIATE EXAMINATION — 2020 (ANNUAL) 325

Model Set

Time :- 3 Hours 15 minutes Full Marks - 100
AN ;3 S 15 e Sociology (HHTSIAEI) QUi — 100

ghenrfelalt & fore [A3or —

Instructions for the candidates :-

1. e} JUTHYT U gl H B SR < |

Candidates are required to give answers in their own words as far

as practicable.

2. SN IR RRA R &Y gY s Yunies ffde &vd 2|
Figures in the right hand margin indicate full marks.

3. 9 U UH Dl FFYED Ugd @ g 15 e @1 sfaRed wwa faan

TAT B |
Extra 15 minutes has been allotted for the candidate to read the
questions carefully.

4 I8 YTA—UF QT WSl H © : WUS—3 Ud WUS—T |

This question paper has two sections : Section-A and Section-B.

5. Gus—31 H 60 IS U B, SHH W fbel 50 ULl & IR <l § |

s & oy 1 3 MLIRT 8) 3R 50 ULl ¥ 3ff¥d & IR f&d oI

g T UM 50 STRI BT B JeAidb [HAT SIRAT | (TS el BT IR
I IR T OMR-STR 936 # A T |& g9 B Bl /el



dfd U7 ¥ W | BT ff YR & ®ReR /TR U / &S /ARG 3N
BT OMR SR UFH H TART HIAT AT 8, AT Ul gROMH STH=

BT |

In Section-A, there are 60 objective type questions out of which
answer any 50 questions (each carrying 1 mark). If more than 50
questions are answered, then only first 50 answers will be
evaluated. Darken the circle with black/blue ball pen against the
correct option, for the objective question on OMR Answer Sheet
provided to you. Do not use Whitener/Liquid/Blade/Nail etc on

OMR Sheet, otherwise the result will be invalid.

Yue—q ¥ 27 TSI U 8, f7H A bl 15 YAl &I SR 1 2 |

Tdd B v 2 3fh AuiRd 21 sa ifaRed @vs—q ¥ 08 <Ig SR

ged f QU 71U &, 9 & fhgl 4 UeAl & SR <71 2| IS WA D
forg 05 s fwiRa €1

In Section-B, there are 27 Short answer type questions, out of
which any 15 questions are to be answered. Each carrying 2
marks. Apart from this, there are 8 Long answer type questions,
out-of which any 4 questions are to be answered.Each question

carries 5 marks.

Pl TRE & Solagi-id IUSHRYT HI YANT YUIdAT afsid 2 |

Use of any type of electronic appliances is strictly prohibited.



Tus—3 (axqfrs y3)

Section-A (Objective Type Questions)

fF=ferRad 60 awgfss usHl # 9 fbgl 50 & IR < |

Answer any 50 out of the 60 objective type questions given below:

ge W1 1 ¥ 60 P IS U & e IR fddeu v v €, 59 9w

TE T I BN g T 98 Rided B OMR-3e W fified #¥ | (50x1=50)

Question No.- 1 to 60 have four options, out of which only one is

correct. You have to mark your selected option on the OMR-Sheet.

(50x1=50)

1, fIeR H FHGRIS @ ugls |dyed by fdeafdemey § g gs ot ?

A. geT favafaerea
C. urcforgy faeafderera

B. 'R fawafdenea
D.Hlérrg?ﬁl"gaﬁaqu

Teaching of Sociology was started in which university of Bihar

first?

A. Patna University
C. Patliputra University

2. KT Bie & TH DI of ?
A TFHER

C. dc grsad

B. Munger University

D. Bhagalpur University

D. "1



Who was the mentor of Auguste comte?

A. Maclver B. Aristotle

C. Saint Simon D. Marx

e hel, HHTSTIRA FATS BT fag = g2

A drs B. sy
C. fafe D. WR

Who said, “Sociology is the Science of Society?

A. Ward B. Maclver

C. Giddings D. Spencer

“gififed fhetrem!” e JRih & Rl dIF of ?
A @i B. WRIfeA
C. =T D. &rret

Who had authored the book “Positive Philosophy?

A. Comte B. Sorokin

C. Marx D. Hegel

gy faeafderery § FHISTeS fa9RT @7 o fhea! sraear + gg ?

A Slo TEo g B. Uf¢w frew

C. 3R0 B0 JTIGil D. €0 TH0 HYJHER



Under whose headship the department of Sociology was
established in Bombay University?

A. G. S. Ghurye B. Patrick Geddes
C. R. K. Mukherjee D. D. N. Mazumdar

STH 9 DI RAT AR BT 7o I &7

A. IMETHATS B. &¥ Hadl fawar

C. aHfgadn D. 3 3+

Which among the following is the main elements of Indian Culture?
A. Spiritualism B. Belief in Karma

C. Collectivism D. All the above

= 4 b gd & FuSIeEy JqgRo WRd fhar € ?

A. @M B. HoR

C. TR D. API8aR

Who among the following has Presented Sociological Concept of
religion?

A. Durkheim B. Frazer

C. Tylor D. Maclver

o # @ @9 9u o1 faedr J&8 8 ?
A. FAST T © B. uRaci-eiierar



C. IRR% favzar D. "REUR$ AR

Which one of the following is not a characteristic of Society?

A. Society is Concrete B. Changing Nature

C. Interdependence D. Mutual Awareness

g er, |l Aoy A3 dgarT 27?
A. TS B. AdsdR
C. 3G B D. Sifel Ridet

Who said, “Society is co-operation crossed by conflict?

A. Bogardus B. Maclver

C. Auguste Comte D. George Simmel

/1 & ¥ 39 Ao aRatdd &1 dR$ 87

A. Th-TD! B. SE=

C. d&pfd D. Swdad o+l
Which one of the following is factor of social change?

A. Technology B. Population

C. Culture D. All the above

A1 | ARG gRac @ foly fd dR$ &I ITRarl 741 87
A. e B. Wi

C. anfefa D. S EATHB



12.

13.

14.

According to Marx which factor is responsible for Social Change?

A. Geographical B. Cultural

C. Economic D. Demographic

"B ARG H HHEISTD R’ AHD YD B olkgdh DI &7
A. TH0 U0 sifeard B. 3RO &0 TSIl
C. €0 dlo g&rsii D. &0 ¥lo gd

Who wrote the book “Social Change in Modern India”?

A. M. N. Srinivas B. R. K. Mukherjee

C. D. P. Mukherjee D. S. C. Dube

[P ®el, "Udd Aldd I8 Sl © fb TR @ 2, fbeg fbdl =1 A
HATSTTe qRATST T8 <1 877
A e B. TusvHA

C. fael Bied D. Hdrgar

Who said, “Everybody seems to know what city is but none has
given a Satisfactory definition”.?

A. Bergel B. Anderson

C. Willcox D. Maclver

fFrforiad § | oM gReM 99ar™ o AT 27

A. IGRET BT AT B. Slerfore e



15.

16.

C. HIEIRie g D. Swdaa w1

Which one of the following is the Problem of Muslim Community?

A. Feeling of insecurity
B. Educational Backwardness
C. Communal tension

D. All the above

frg HAYE ¥ Uoe 9 & 999 TR & Aol & w9 § W fhar

TIT oT?
A. 9ugd HUIRHE B. ®IeNl HHIIH
C. IRBRIAT HHIIH D. 9rgH9 HHIRHE

Which one of the following Commission had considered backward
class as intermediatory Castes?

A. Mandal Commission B. Kothari Commission

C. Sarkaria Commission D. Simon Commission

10 U0 B’ fhd IR O Hefdd © ?
A BT B. 9cllch R
C. 39 ¥ 31 |gwfy D. I

“D. A. Case’ is related with which one of the following crime?

A. Murder B. Rape



17.

18.

19.

C. Disproportionate assets D. Theft

M & AT § 396 | BIF AT Y o /7

A. STEEET B. A= y—mr
C. WPR D. SWad |+

Which one of the following is the most important element of the
formation of State?

A. Population B. Definite geographical area
C. Government D. All the above

b g UfaeTRies oeT & 9RA H Igarg ol 9a-r bl Iad goafl?

A. 1857 &1 Rqure) fagre B. YIRd BISI 3T=<IclA

C. I8N 3] D. gfa=a I7gsT <rer

Which one of the following historical incident initiated the sense of
nationalism in India?

A. Sepoy Revolt of 1857

B. Quit India Movement

C. Non-Cooperation movement

D. Civil Disobedience Movement

/= 94 9 o9 Srfdare & 9T &1 S § ?

o o

A. S GiTeHl IR Ufaes B. siauiidg fadarg




20.

21.

22.

C. ST f2rem D. SWad |4

Which one of the following measure is applicable to eradicate

casteism?
A. Ban on Caste organisation B. Inter-caste marriage
C. Social education D. All the above

ST R ArorT e H W fhes Hefda © 2
A @b & I | B. &vq] f&ar |
C. fo fadg 4 D. ISR ¥

Janani Surksha Youjana is related with which of the following ?

A. Procreation of Children B. Domestic Violence

C. Gender disparity D. employment

Iy fare sfaferam foa e aiikd gaim ?
A. 1954 B. 1956
C. 1961 D. 1972

In which year ‘Special Marriage Act’ was Passed?

A. 1954 B. 1956

C. 1961 D. 1972

WA A% ST fhd g | faT aret 87

A. TSI B. figR

10



23.

24.

25.

C. ¥y D. 59 U9l
In which state does Khasi tribe inhabitate?

A. Rajsthan B. Bihar
C. Meghalay D. Madhya Pradesh

JTYRLS IMMSTH’ IMTSH FARRAT BT HI AT WK 57
A v B. fe<ia
C. qarg D. =g
Which Stage of Ashram Vyavastha is “Vanprastha Ashram?

A. First B. Second

C. Third D. Fourth

TR TITAROT T GHEIfSTd Sildd IR =1 & 9 ®I9 g9 81 87

A. 3TRTY B. afadartaar # gf

C. uguur § &l D. 3ard &1 F9T H i

Which one of following is not an impact of Urban environment on

social life?
A. Crime B. Increase in Individualism
C. Decrease in Pollution D. Increase in housing problems

Mfarg 7 uadiaxo ) ufhar & Afed & w9 § 9 9 & 9 59

JMEYN HET ?

11



26.

27.

A. 1 et B. 3MEIfTahIehRoT
C. f3eror I D. 150 a¥ & fafeer s+

Which among the following basis has been adopted by Srinivas as

a model of the Process of Westernnization?

A. New technology B. Modernization

B. Educational institutions D. 150 years of British rule
AR ¥ ERHARIROT BT AR P arell e B A ¥ ?

A. Gepfd o1 e B. Afgelr am=Tel

C. ISR g TR D. ST gt

Which condition has Promoted Sanskritization in India?
A. Education of Culture

B. Women movement
C. Industrialization and urbanization

D. Tribal Movement

fra fomg aviviy # a7 aftfa © & REdl &1 oier waaa e =18l & 7
A. e B. #gfa
C. Sufug D. g

In which Hindu religious book women’s Separate existence has
been denied?

A. Geeta B. Manusmriti

12



28.

29.

30.

C. Upnishad D. Rigved

STHIR &7 4 d & i g 8 ?

A WeEnfire Aerg B. dsif+e fae™

C. =ifa fereior D. #AgRT § yRa<i=

Which among the following is the function of Mass Media.
A. Technological development

B. B. Scientific development
C. Policy formation

D. Change the attitude of People

R o 3efegaeer & fa disdl &l AT 27

A. Yofrardt B. fafsra
C. FHINarGl D. \r=gdral

Which model of economic system has been adopted by India?

A. Capitalistic B. Mixed

C. Socialistic D. Communistic

1 9 9 U™ d9d @ i 9 9T 27
A TTH [T B. UM sl
C. Atd B i D. 398 ¥ ®Ig &1

Which among the following is the branch of Gram Panchayat.

13



31.

32.

33.

A. Gram Sabha B. Gram Kachhari
C.Both Aand B D. None of these

T TR T ARl & Hegq IR BT A1 T © 2
A. T 9Ad B. garyd wfafa
C. | v=rd D. e uRug

What is the name of middle stage of three tier Panchayati Raj

System?
A. Gram Panchayat B. Panchayat Samiti
C. Nyay Panchayat D. Zila Parishad

1 9 9 o9 9Rd ¥ 3ufafRe g & forv STRerR 27

A 33 sfear ou) B. arA sRe™
C. ols Flgd D. 9% 9 94

Which among the following was responsible for Colonial rule in

India?
A. East India Company B. Warren Hastings
C. Lord Clive D. All the above

ARA H FIH IST SIS 8 i &7
A. T B. ger

C. & D. @i

14



34.

35.

36.

Which is the largest tribal group in India?

A. Santhal B. Munda

C.Ho D. Khasi

T § W eI fha Ry fhar?
A. SR 99 B. IRiE depr
C. argaa S D. HeTeAT iEd

Who started Swadeshi Movement in Bengal?

A. Rajnarayan Basu B. Ram Singh Kuka

C. Vasudev Joshi D. Mahatma Gandhi

ferq, STRITSHR AT 31 fFd 99 Fed &) gl & g3 & 99
U FraRy | HAF SfgeR faar war?

A. 1956 B. 2005

C. 1985 D. 2010

In which year Hindu Succession Act was Amended to provide
equal right to the girls in ancestral property?

A. 1956 B. 2005

C. 1985 D. 2010

faeg @1 3refgaReT # UHIHROT B UfhaT Bl R Had &7
A. TRIHRI B. SRl

15



37.

38.

39.

C. ufradiexor D. yHSIHRoT

What is the process of integration of global economy known as?

A. Urbanisation B. Sanskritization

C. Westernisation D. Globalization

AT AAeRT & fha soft & siavta amar &7

A ureafie B. fe<ia®

C. gf® D. 5 & HIE
“Maternal Uncle” comes under which category of Kins?

A. Primary B. Secondary

C. Tertiary D. None of these

e faarg’ fow w99 @ faare &1 Ue W@y ?

A. fE=g 9are B. Rrg—aHr

C. anfeardl wars D. gRe A
‘Rakshas Vivah' is a form of marriage in which Society?

A. Hindu Society B. Sikh Society

C. Tribal Society D. Muslim Society

faffa faare &1 W fog ware & gaferd g 2
A. fa=g 9are B. Rrg g9

C. anfeardl wars D. gRe A

16



40.

41.

42.

“Marriage by Exchange” is prevalent in which society?

A. Hindu Society B. Sikh Society

C. Tribal Society D. Muslim Society

AR AT (TP W ATHRI BT GRefvn) fafgd fbw 99 uika

ga?
A. 1955 B. 1986
C. 2001 D. 2005

In which year was Muslim women (Protection of Rights on
Divorce) Act Passed?

A. 1955 B. 1986

C. 2001 D. 2005

IR¥THIHRT BT g dRg &1 JITUROM HHET ST 287

A. TT JATEROM B. IRIY 3fFeRoM
C. dIfds raemRon D. &FRI 3aeRon

Which type of concept is westernization?

A. Neutral Concept B. European Concept

C. Material Concept D. Regional Concept

HAGRNRTAT & AR i f[AvHdT &1 e (e 57
A. TSI Jeat | B. HMINTeG Heai |

17



43.

44.

45.

C. anffar D. St
According to sociologists gender disparity is related to what?

A. Political Values B. Social values

C. Economy D. Population

YRA ¥ U d G & (ER BT AER RT 57

A, TETAT B. g
C. yoirfa D. Y787

What is the basis of determination of minority community in India?

A. Nationalism B. Religion

C. Race D. Language
AT H R fdars &1 9 FaT 87

A. ot B. gdre

C. wiRie D. 57 X @I el

What temporary marriage in Muslim is known as ?

A. Nikah B. Mutah

C. Fasid D. None of the above

= & 9 oI ofd gawen &1 3y g ?

A. GEIAT BT TR B. SfoTa wey
C. M 2Ny D. SWad |+

18



46.

47.

48.

Which one of the following is the demerit of Caste System?

A. Untouchability B. Caste Conflict

C. Social exploitation D. All of the above

PRE, AT YUS QU AHD &b fbd foram 272

A. 3RO B0 JEIGII B. Silo wH0 g
C. SI0 TH0 AGHER D. wHo 9o g9
Who has written the book ‘Caste, Class and Occupation’?

A. R. K. Mukherjee B. G. S. Ghurye

C. D. N. Mazumdar D. S. C. Dube

fhe q¥ ‘fa=g a<id’ T80T IR WRU—UINY A= uikd far Tam?

A. 1956 B. 1955

C. 1965 D. 2000

In which year “Hindu Adoption and Maintenance Act’” was

Passed?
A. 1956 B. 1955
C. 1965 D. 2000

4R H fhE SENT | SITQT 911 AoIgR Bl ST fhar SIrar 27?
A =0 3= B. ®UST 3T
C. 1! 3= D. Suad |4

19



49.

50.

51.

In which industry child labour is mostly used in India.

A. Carpet industry B. Garment industry

C. Beedi industry D. All of the above

Torg fhIRIY % Y& & ol@d I © °

A. ST BId B. argo o <wTE
C. TH0 %0 §d D. @0 TH0 Hurfear
Who is the author of the book ‘Hindu Kinship”?

A. lrawati Karve B. I. P. Desai

C. S. C. Dube D. K. M. Kapadia

S0 G0 ARSfp o fhdd TR & fedige AdeR! & Seord fhar?
A 33 B. 45
C. 50 D. 65

How many types of secondary kins has been explained by G. P.

Murdock?
A. 33 B. 45
C. 50 D. 65

i s (g ud fafe eifafam 1986 @ sfavid a1 sifid @1
SIHTH MY &7 & 7
A. 18 IY B. 12 a9

20



52.

53.

54.

C. 14 99 D. 10 9§

What is the maximum age for being eligible as a child under the

child labour (Prohibition and Regulation) Act, 1986.

A. 18 years B. 12 years

C. 14 years D. 10 years
AR WRIBNUT &l IRAT a7, URART 3R T & Ged & fohaa €1°?

A. BTl AT B. #99 deR

C. Sfdw wa 3 D. uRE

Who described Social stratification in the context of ‘Class, status

and Party’?
A. Karl Marx B. Max Weber
C. Davis Moore D. Parsons

fohg ATAIRTD AT BT FdeT 3N A & 9d A 27
A. SRISTRI B. 3rgrar
C. T D. 31dey g=a=

Which Social Problem is related to lack of economic resources?
A. unemployment B. Handicap

C. Divorce D. lllegitimate child
AT el fb TTIBRT & ATYABIBROT BT YoIH =R0T 87

A HBTgaR B. @R

21



55.

56.

57.

C. shifara D. 9

Who said that urbanization is the first stage of Modernization?

A. Maclver B. Lerner

C. Srinivas D. Bergel

IR ST & GATIdh DI 2 ?

A. | HIgT B. T¥g Ix%Edl
C. fader= D. I¥ &% WA

Who was the founder of ‘Arya Samaj’?
A. Ram Mohan Roy B. Dayanand Saraswati

C. Vivekanand D. Ramkrishna Paramhans

=1 & 9 o g9 &1 e A8l 27

A. ISR GiTed § d1edh B. 9mrfote fAg=or &1 A1

C. 9MIfSTd Ge+ # 98sd D. Wd oo H FE—H

Which one of the following is not the function of religion?
A. Hinderance in Social Organisation
B. Means of Social Control

C. Helpful in Social Organisation
D. Helpful in welfare for all

TSI STfId ST AN & el Hi 87
A. 9o Telo gferm B. ge1 e

22




58.

59.

C. XM B BISTRAT D. 399 9 &g a1

Who is the chairman of the ‘National Commission for Scheduled

Castes’?
A. P. L. Punia B. Buta Singh
C. Ram Shankar Kotharia D. None of the above

S B = STl a1 Senta fedr ST i &1 faem # siue Siad
Ugfd @l gaerdl ©, A 99 &Il bed 87

A. GERITHRT B. SMEferienror

C. ufegHIeRoT D. &9 fFRUefi®HoT

When a low caste or tribe changes its way of life in the direction of

a higher caste, it is known as?
A. Sanskritization B. Modernization

C. Westernization D. Secularization

fha Pal, “AMISTe 9 TSR BT 98 9NT © o e Refa &
MR WR Y 9T | 37T & f&ar 737 &1°

A. FIel AT B. €0 TH0 AYHER

C. aftaara D. HorgaR

Who said, “A social class is any Portion of a Community marked

off from the rest by Social Status”.?

A. Karl Marx B. D. N. Mazumdar

23



C. Sachchidanand D. Maclver
60. HEIHA! W AEIAT 9T AT D) oA [(8R H fhg a9 of 757

A. 2017 B. 2018
C. 2019 D. 2016

In which year ‘Mukhya Mantri Swayam Sahayata Bhatta Yogana’
was started in Bihar?

A. 2017 B. 2018

C. 2019 D. 2016

¥Yuvs—9q / Section-B

Av—aeqfss 939 / Non-Objective Type Questions

U T 1 W 27 % oY SR Bife & T 7 | B 15 Ul & W I | IS
Te @ fIY 2 i FiRa €| (15x2=30)

Question no. 1 to 27 are Short answer type questions. Answer any 15

questions. Each question carries 2 marks. (15x2=30)

1, FETST @1 fhgl 1 IRyl &1 Soel & |
Explain any two characteristics of society.

2. fafqerar & dra AiRepicd ghar & IR H 1 ufaadl ford |

Write two sentences about cultural unity in diversities.

3. qof FeReyT B &1 TG fARIvarsll &1 qoid o |

24



10.

11.

12.

13.

Describe two chief characteristics of Varna System.
eIl 373 & QI Il bl ford |

Write two objectives of Brahmacharya Ashram.

fe=g AwRfa @ o9 &1 T e 2°

What is the meaning of religion in Hindu Culture?
fe=g faare # sl=arel &1 uRddl &1 oot & |

Explain two changes taking place in Hindu marriage.
M afgfdars &1 F@i aef 27?

What is the meaning of ‘Gotra’ Exogamy?

SRy Td aof & € <) s} e Y |

Explain two differences between Caste and Varna.

ST STaReIT & 9R TG & fada=T & |
Discuss four dysfuncions of Caste System.

STt gaven R uf¥ed) e & fesl 9 uvral &1 g & |

Describe any three impacts of Western education on Caste
System.

qRe™ fdare & bl a1 el o1 quie & |

Describe any two Prohibitions of Muslim marriage.

BRI 3R T8 § a7 3R © 2

What is the difference between Fasid and Mutah?

TR 9T @ A= Shrear w87

25



14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

What are the different units of Panchayat Raj?
YT ggufel fdars @ar &7

What is non-fraternal polyandry marriage?

Il & D1 Ufshdr Bl fad=r & |

Discuss the Process of Talake Hasan.

AeAfS AR T 87

What is Teknonymy?

gt Dl aRATT &N |

Define Avunculate

STEIR @ A & gl IR IR BT qui o |
Describe any four examples of means of mass media.

TS gRaa H HRSR DI YHBT BT Ieekd P |

Explain the role of computer in Social change.
IR AR & 39 g FHed € ?

What do you mean by Local Cultural?
SiRIRTaReT @ a1 faeivarsii o1 ford |

Write two characteristics of Industrialization.

IreTRedT & bl T BRON TR YT STef |

Throw light on any two causes of communialism.

ST Td Sifaare @ dra fhsi &l JfaRl &1 fad==T o |

Discuss any two differences between Caste and Casteism.

26



24,

25.

26.

27.

Hee TRINT B @ qEdl BT o |

Write two suggestions of Mandal commission.

eRe] fEAT B 2005 & T WRI UTGRITT BT {I9elvor o |
Analyze two main Provisions of Domestic Violence Act, 2005.

ST FHTST BT & THSIIRN 6T goie &y |

Describe two Problems of tribal society.

fER & 91 AT SV H g1 A @) BT W UG ST |
Throw light on the role of ‘Dhaba Dal” for the abolition of child

labour in Bihar.

" ST 939 (Long Answer Type Questions)

U3 AT 28 W 35 A oY STRIY BIfe & U 2| 598 9 fbdl 4 Ul & TN

< UR% 9 & oY 5 3 iR € | (4x5=20)

Question no. 26 to 33 are Long answer type questions. Answer any 4 of

them. Each question carries 5 marks. (4x5=20)

28.

29.

30.

TRT H T Thdl & AT H 3 aTell a1t &l fad=mr & |

Discuss the barriers to national integration in India.

fe=q faare & Seedl &1 9uiF & |

Describe the aims of Hindu marriage.

g4 @ U T UHrl &1 IaTEr o |

Discuss five important functions of religion.

27



31.

32.

33.

34.

35.

A9 3T TR IR U& fae ford |

Write an essay on human organ trafficking.
Req R & R ol o1 qoe a¥ |
Describe the different forms of Hindu marriage.
Rt & faf=1 wrdl &1 faeryor & |

Analyze the different conditions of Nikah.

qrel SIS B TR BT fITATT N |

Analyze the Problems of child labour.

IRA H ol dF B TR BT fIa=mT o |

Discuss the problems of weaker sections in India.
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